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In Lesson 1, we learned how to say “Item A is this, item B is that.” We now learn how
to say “Item A is this, and item B is this, too.”

L34 LEALATT, Takeshi is a Japanese person.
Takeshi san wa nihonjin desu.
AHLZ3IAL ITIZALATY, Michiko is Japanese, too.

Michiko san mo  nihonjin desu.

Note that these two sentences are almost identical in shape. This is natural, as they both
claim that a certain person is Japanese. The second sentence, however, is different from
the first in that we do not find the particle wa in it. We have mo instead. Mo is a particle
that indicates that that item, foo, has the given property. One thing that you should watch
out for is exactly where the particle is placed. In English, the word “too” can be placed
after the sentence as a whole, as in the example above. Not so in Japanese. In the above
example, mo must directly follow Michiko san.

Al X X T, A is X.
B! £ (X! TY, B too is X.
+ N

two items shared property1

@l non UeHDEEA

To negate a statement of the form X wa Y desu, where Y is a noun, you replace desu
with ja arimasen.”

LEFEXAIT AP e ) FTHA. My Yamada is not a student.

Yamada san wa  gakusee ja arimasen.

"We cannot use mo to describe a situation like the following: Qur friend, Pat, has dual citizenship; Pat
is a Japanese, but at the same time, she is an American. To describe the second half of this situation,
we cannot say, Patto mo amerikajin desi, because the sentence would mean that Pat, in addition to
somebody that has been mentioned, is an American. Neither can we say, Patto wa amerikajin mo desu.
(Japanese speakers would say, Patto wa amerikajin demo arimasu.)

%In the dialogues, there are two sentences that end with desu, which call for special attention: Are mo
takai desu ne (That one too is expensive), and Oishii desu yo (It is delicious). These sentences cannot
be negated by replacing desu with ja arimasen, because takai and oishii are not nouns. Are mo takai
Jja artmasen and oishii ja arimasen are therefore not grammatical. Instead, one would have to say
tekaku arimasen and oishiku arimasen. We will learn about the conjugation pattern of adjectives in
Lesson 5.
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(1) second year (3) 22-years old

Takeshi
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(6) U. of London students

Robert Nancy
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A. Look at the chart on the next page and answer the questions.

s ok oW
Example: Q : X7V — XAl IZIIALCATTH,

Mearii san wa nihonjin desu ka. " ;
» »
ATvwnz IRIZALALe DN $¥A. TXYALATY,
lie, nihonjin ja arimasen. Amerikajin desu.

L. 2 LA B ) TCLCATT
Takeshi san wa chuugokujin desu ka.
T O »
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2. TS RXLE FAYHLATT

Robaato san wa amerikajin desu ka.

3. ELARAEWE AT LATT,
Yamashita sensee wa kankokujin desu ka.
2 W s ¥

4. ON—PFXAD AL AT IZIIATTTH,

Robaato san no senmon wa nihongo desu ka.

T 3
5. A—XAD HA LA T WTT

Suu san no senmon wa keezai desu ka.

6. T LXAIE 29 XWEW LD 2 BNWTTH,

Takeshi san wa  Toozai daigaku no gakusee desu ka.




